~~ Unit 3, Page 13 ~~

: . Rates in Tables, Graphs, and Equations
ycling with Jose, Maria, and Sheldon
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a. Complete the table. : o
b. How fast did each person travel in miles per hour?

Jose: 5 M'/Ar" Maria: Sheldon:
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- Assume that each person continued at this rate. Find the distance each person traveled in 7 hours.
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{. Assume that each person continued at this rate. Find the distance each person traveled in 12 h
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'Qn the next page, graph the time and distance data for th

i s-en liea aninforual of 1 on the x-axis an

e three riders on the same coordinate grid. Make a key to
d 5 on the y-axis. Your grapn should include a title
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2) b. Use the Eraghs to find the distance each person travelled @ S how you got ypyr answers using

dast;ed lines. g 5 4 l
Jose: _ ™~ mied Maria: Sheldon:
c. Use the gr_agh§ to find the time it took each person to trav Show how you got your answers using dashed
lines. I q A
Jose: e Maria: Sheldon:

the rate at which each person rides affect the graphs? Ti\e. E 5;"9

d. How does
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3. For each riger
» Write an u
fine your oW Varlabic. €quation that can be used to calculate the distance“trave

Distance traveleg= _dg Number of hours= l:}

lose: d = Maria:

b. How does a Person’s biking rate affect the equation? ‘M&Lbﬁ_l_y
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Use your €quations from part a to calculate the distance each Person would have traveled in 6 hours.
(Show all work as indicated.) i
Jose Maria Sheldon

Equation > d "5—1’\
Substitution Ty C‘ - 5_ t

Solution == o * 32,5,

Compare these answers to #2 partb. Did you get close to the same answers? _¥¢4L Which method would

'c._pyua.)a'n-\)

. Use your equations from part a to calculate the time it took each person to travel 70 miles.
(Show all work as indicated.)

be more accurate, using the equation or the graph?

Jose Maria sheldon
Equation ——> _CJL= 5 L\
Substitution =——> _7=0ﬁ-‘ ;_;Lﬁ
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Which method would

Compare these answers to #2 part c. Did you get close to the same answers?

g be easier for very large numbers, using the equation or the graph?



